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Z: 500 X3
2 510 INEE3S
&: 511 FNPEIES (Sl &R)
Z.@.-8.2 Ol &t o4 B 0 ot o Hms2
=R 3,928,088 2,927,926 1,000, 162
500 2 X2 3,928,088 2,927,926 1,000, 162
510 2n2X2S 3,228,161 1,910,820 1,317,341
511 202 X3S 3,228,161 1,910,820 1,317,341
511-01 R D2XZ 716,900 454,900 262,000
[ 2ets) 716,900 454,900 262,000
<2szY > 716,900 454,900 262,000
OSSHES(MMU2 )AL 21,000
O2al 243 420,000
OS2 MUEXALL 2= 60,000
ONEAZ BEFHY) 130,000
O®el =2 E+FH| 81,900
OXIFaULIZMSH X 4,000
511-02 29 - NAYNSE RS 2,250,000 774,000 1,476,000
[ 2es ) 2,250,000 774,000 1,476,000
<2FHB2Y > 2,250,000 774,000 1,476,000
ODMMM BZBAANL &5 500,000
ORZBIMNL(ULZBX) 1,750,000
511-03 01 3 261,261 681,920 A420,659
[ e ] 261,261 681,920 420,659
<2szTY > 261,261 681,920 A420,659
o024 MEMSKEX X 33,120
Oget MEUSKE B 66,240
OAZZHISH X & 12,451
SIETIESS 4,200
OssBBHLN 2Y 18,000
OBZOfL &7 15,000
OBBOHY EXNE £ 9,000
SELTESS 51,250
OVMDE=H X 42,000
OCI20f 2EOUNE M= 10,000
520 Al - SHIEZE3S 699,927 1,017,106 AB17,179
521 Al - SHI2ESS 699,927 1,017,106 AB17,179
521-01 Al - EHIRESS 699,927 1,017,106 AB17,179
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2 520 Al - SHIEEXES S
ghr 521 Al - EHIEXZE (Sl &&)
Zg-2-g-5 Off &4 & E Ol At Hns2
[ B3 699,927 1,017,106 A317,179
< 2@t > 699,927 1,017,106 A317,179
OZstM E=3H 90,000
OTFSAE EXFH 65,000
OZ2tM MHHXAAY 25 30,000
OdgJIIgE E+8Hl 17,550
Od=FaEUZM=M X3 12,000
Oodl HH< X 600
OZstHt£ A 4,126
OO0t SMotes MMY 23S 1,000
OEXE 23M 2= 230,000
owved otsthie =529 6,600
OX=l 8l s s=23LS0l 12,000
OAZXHIRHM X&E 2,668
Oodzd 42HsXAEX X 1,080
ot M A HiX 2,160
OS2 MHS (MUY 4,500
OZstBol&dMm 29 18,000
OuUsMN==FHM K& 42,000
OkHdas Usid 3,600
Oos=sesd=HM X 23,000
Os=sdadM=M X3 15,000
O=H&EI= NEA 8,500
OfE=aM dsXd 4,800
OFRg =23 SHEA X3 900
OEXN&EEZsMN S48E Jlesd 92,000
oxscMa Xd 600
O23to & Mg 4,125
OSE=E HEANSNEX BiXI 8,118
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&JI&Hl etd el 260,000& = 123 3,120
405 XtAtE SHI 2,000 0 2,000
01 AL EFH S 2,000 0 2,000
OR«itolz2 7¢ 1,000,000& = 2CH 2,000
SEQENZTEAIZ 2F 2 360,220 6,300 353,920
201 ¢er24| 8,420 4,500 3,920
02 =224l 8,420 4,500 3,920
OoEgddy 4,620
-2g |2 260,000& = 123 3,120
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-5 Xl 4l 500,000& = 1CH 500
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 48,000
04 QIZEHALE & 86,000 0 86,000
Oos=sgsd=M X 56,000
= 23,000
s 33,000
Os=sgdadoso=sMd X& 30,000
< 15,000
[ia 15,000
d=FagoS0=M X 31,000 0 31,000
= 4,000
< 12,000
e 15,000
307 glz2tol & 31,000 0 31,000
= 4,000
< 12,000
e 15,000
04 QIZtHALE & 31,000 0 31,000
Od= FAdEU=0M=HM &It 31,000
= 4,000
< 12,000
s 15,000
ZHAEIIZ XA 17,000 17,000 0
< 8,500
[ia 8,500
307 21201 A 17,000 17,000 0
< 8,500
[ia 8,500
04 QIZHSHALE & 17,000 17,000 0
OuMtl=HM X 17,000
< 8,500
e 8,500
2 2 0873 X 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
02 plZtFAE X 5,000 5,000 0
otz E: 18g4dH7s XA 5,000
St2AF 2 &AZ 222 22,044 12,844 9,200
101 @144 dl 3,944 3,744 200
04 JI12ZtHZ22HEE =+ 3,944 3,744 200
O 2AF AI2dAIZ 22| & HA
39,4403 » 100 3,944
201 L2l 16,300 7,300 9,000
01 At 22l 1,500 1,500 0
Oe2A RS EAIZ EE2 HMH
500& = 2,000% 1,000
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M 20z s
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OfId 3483 ¢ 500
02 =24l 14,800 5,800 9,000
OXIIRS 300,000& = 12& 3,600
O=ER= 100,000& * 122 1,200
Ost2AF A2 HAIZ Al EHl | 10,000
307 glz2tol & 1,800 1,800 0
05 RIZHRI & 3 1,800 1,800 0
OSIZHAAE KX 150,000& * 12& 1,800
MEZ2t BB022 JIIRIN(2IAFXA) 3,240 3,240 0
201 et 3,240 3,240 0
02 2324l 3,240 3,240 0
02010 OtS0IsZ2ME S22 3,240
23 bt H 71,880 74,823 A 2,943
J| 51,250
< 4,126
[ia 16,504
307 21201 A 71,880 74,823 A2,943
J| 51,250
< 4,126
= 16,504
02 IZHA A8 X 71,880 74,823 A2,943
O3z =208 2=XA 71,880
J| 51,250
< 4,126
e 16,504
OtJIet Mot MAE 23 5,000 5,000 0
S 1,000
s 4,000
308 XX EHH SOl 5,000 5,000 0
< 1,000
s 4,000
06 WSII20HEt2xZ 5,000 5,000 0
OO0Jlet EMdts MM 2 5,000
< 1,000
[ia 4,000
oA X 2,000 0 2,000
< 600
[ 1,400
307 21201 A 2,000 0 2,000
< 600
[ 1,400
02 2ItF & E X 2,000 0 2,000
OS2 TA7LHI 2,000
< 600
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| o 1,400
23t € At 8,250 0 8,250
=) 4,125
= 4,125
307 glz2tol & 8,250 0 8,250
=) 4,125
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02 QI2tFAE X 8,250 0 8,250
OAzZE32 & At X & 8,250
= 4,125
s 4,125
S22 Ased 126,000 86,000 40,000
= 3,600
[ia 122,400
guilze X 12,000 12,000 0
307 21201 A 12,000 12,000 0
02 2ltFAEX 12,000 12,000 0
ognilzsd XA 12,000
=1 &k 5,000,000& = 1JH A 5,000
-HE 3,500,000& * 10024 3,500
-3 ot 3,500,000& * 1704 3,500
g AMH K& 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
02 plZtAAE X 4,500 4,500 0
OSANUH K& 4,500
-1 AF 750,000& * 23l 1,500
-9 S 750,000& * 23l 1,500
-3 ot 750,000& = 23l 1,500
CH43=EnE ¥ 18,000 18,000 0
< 3,600
s 14,400
307 21201 A 18,000 18,000 0
< 3,600
[ia 14,400
02 2t a2 X 18,000 18,000 0
Oxg4da=s Uusid 6,000,000& = 3JH A 18,000
= 3,600
s 14,400
Mg X 4,500 4,500 0
307 glz2tol & 4,500 4,500 0
04 QIZHSHALE = 4,500 4,500 0
O A HME 3,000
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307 21201 A 37,000 37,000 0
02 2ItF & E X 37,000 37,000 0
OHENE n&s2d X 37,000
FSs=2&H ¥ 25420 10,000 0 10,000
307 gl2tol & 10,000 0 10,000
04 QIZHHALE = 10,000 0 10,000
ORsSEaHM ¥ 25927 10,000
A& 23t - AL IS X &2t 40,000 0 40,000
207 A O H] 40,000 0 40,000
01 2289 40,000 0 40,000
Outts LU AAR oI X Y2t 20,000
Ol Iz g2t 20,000
2ot 4 EEFH 1,855,078 1,611,858 243,220
= 712,900
< 534,750
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M & E3Hl 1,624,000 1,390,000 234,000
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207 51 OH £ Hl 50,000 0 50,000
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OFetgn 2= 148,920
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O0dzd=Ed Hl E&EXel 49,460
< 24,730
e 24,730
Od&IA MAZ FH| 29,676
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2AMd: 2322
g 23R4 2EEFH
& 23N S E=FH| (CHe &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 30,000
O BEEHHI 75,000,000& * 80/100 60,000
= 30,000
< 15,000
s 15,000
HEAME LTHAIAH” 2= 120,000 0 120,000
= 60,000
< 30,000
s 30,000
402 RI2HXt20l 120,000 0 120,000
= 60,000
= 30,000
s 30,000
01 22t 2E X 120,000 0 120,000
OB &AL & THAIAE 150,000,000 * 80/100 120,000
= 60,000
< 30,000
e 30,000
=t 2=&Hl 600,000 400,000 200,000
= 420,000
< 90,000
i 90,000
207 O] 40,000 0 40,000
= 28,000
S 6,000
s 6,000
01 289 40,000 0 40,000
O2HAL AZHIZ2 AL 224 FHUlH &
40,000,000& = 14! 40,000
= 28,000
< 6,000
s 6,000
401 Al HIZ 201 Y] 560,000 400,000 160,000
= 392,000
< 84,000
s 84,000
01 A& HI 545,960 396, 760 149,200
OlIEAY d28 486,500
= 340,550
= 72,975
i 72,975
OF&ell B 59,460
= 41,622
< 8,919
e 8,919
02 2feldl 9,900 0 9,900
OnIEad Zeltl 9,900
= 6,930
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< 1,485
s 1,485
03 Al S THHI 4,140 3,240 900
ODIE4d A& 2] 3,600
= 2,520
< 540
s 540
O&&Ee|lDIt A2 540
= 378
< 81
s 81
M = 4HH JEIE &4 184,000 0 184,000
< 92,000
s 92,000
207 Ao EH] 184,000 0 184,000
< 92,000
i 92,000
01 289 184,000 0 184,000
OZXNE=ZsM 84BHBEINEEA 184,000
< 92,000
s 92,000
3R Bs 2L 231,078 221,858 9,220
= 102,900
= 27,750
[ia 100,428
SOA 2tel 4,550 4,050 500
201 Let2d] 4,050 3,550 500
01 At 22l 750 250 500
OSUA ot =& 250,000& « 13l 250
OFLUA 22l 35 ¢ 500
02 2324l 3,300 3,300 0
OSAUA 22| 3,300
-MIIAIE |l 100,000& * 128 1,200
-0l = J1 S Xdl 300
- = dl 1,800
206 M= Hl 500 500 0
01 =4l 500 500 0
OSLUAM 22l (=) 500
3 MAIE SR2e 68,128 78,408 A 10,280
101 @124l 3,156 2,996 160
4 JI12ZtHZ22HEE = 3,156 2,996 160
O=stM =&l 39,4403 = 80 3,156
201 £B-2%| 30,860 29,300 1,560
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
307 glztol & 101,000 93,000 8,000
04 QI2FHALE & 101,000 93,000 8,000

OQUMDF==M UatZI| E=E03=U 35,000
OXZAHLSUS 36,000
Od=Cel MSHA Mzl X 10,000
O==22d &= ANYAXRIAUI Mzl N2 20,000

CeR MEU Ol 24,000 19,000 5,000
307 @1z2tol & 24,000 19,000 5,000
04 22t ALE & 24,000 19,000 5,000

oozd dEd=sHa FIot N3 7,000
OU&Z I HEH=F HNOESUHE 6,000
OlaZ)| ESYEMS Oct2E =223 6,000
Ok == WS Mzl X2 5,000

== MsUa Oh= 20,000 22,000 A2,000
307 212t0l & 20,000 22,000 A 2,000
04 QI2HHALE & 20,000 22,000 A2,000

oz MsU=z XA 20,000
e €2 E |4 658,755 628,423 30,332

d 54 X2 658,755 628,423 30,332
201 2Bt2 | 9,360 8,680 680
01 At2 22l b 2,160 2,160 0

OXMEFZIIR g8=2 U=
90,000 = 204 * 128 2,160
02 3324t 7,200 6,520 680
OXMEZIR g=a 29 7,200
= 41,660% = 204 128 1,000
=2 41,6603 = 200 ~ 128 1,000
- 24 5,200
301 AP B A 649,395 619,743 29,652
nosa - 2s2s2d=s 649,395 619,743 29,652
OXNEMEE 24 511,660
- =50 360,620
s 259,200
1s2 3,000,000& = 2% » 12& 72,000
2s s 2,200,000& = 3% * 12 79,200
3s= 1,500,000& = 6% * 12& 108,000
- Fdd 2dH 2,000
- g4l 450,000 = 108 = 12& 54,000
= 1,700,000& = 1& » 128 20,400
= 695,000& » 38 x 12& 25,020




EX: S22
M HdPENE £ MEH=E 4
Sel: Rad4 2B U 84 EEREED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-HILIA 119,840
-J23 63,600
2= 1,700,000& * 19 » 128 20,400
Fale 1,200,000& = 3Y x 12&€ 43,200
SN0 = 63,600,000 = 4% = 1/12 21,200
= Al 450,000& * 49 = 12& 21,600
S &t 200,000 * 4H = 128 9,600
Exall| 150,000& * 4% * 63| 3,600
Hd+=S = 60,000& = 4% * 13 240
-20gd 31,200
EZad| 1,250,000& = 2% x 12&€ 30,000
Exalsl| 100,000& * 2% * 63| 1,200
o1n=l 21,420
-2 LS 100,000& * 199 x 23| 3,800
-0 =2 180,000& = 19¥ * 13 3,420
-HEs 150,000 = 19¥ * 23| 5,700
-253 100,000& * 199 = 13 1,900
-=Z A5l 300,000& * 11& * 23] 6,600
Oalgdaoad s=H| 4,000
-5 & 2,000,000& = 13 2,000
-HILIA 2,000,000& * 13| 2,000
O 22| 5,000,000& * 3™ 15,000
OM&EAIE EAZ 34,820
O&d= 92 Tg sdE2A2 7,675
ON=2U3 Yarxct 5,000
O&X =&l 28,000& * 11¥ * 20Y¥ x 23] 12,320
OssdsallB2g= 300,000& * 159 4,500
O 24| 250,000& = 109 * 12& 30,000
ossJ|+ 3,000
£z 2| 1,500,000& * 2J4 3,000
MEHsZ2 )Y 29 283,340 273,806 9,534
J| 111,811
o= 14,026
= 157,503
MEH=NA 2H 8,423 8,423 0
307 212t0| & 8,423 8,423 0
02 DI2tF ALE X 8,423 8,423 0
OMdEM=na 29 8,423
Az MEH=EZZ]H 8,750 8,250 500
307 QI2t0| ™ 8,750 8,250 500
02 QIZ2t3 A X 8,750 8,250 500




2AMd: 2322
M AeEM=E L HENSs 4
Celr MEHSIZ2OY 29 (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O+ H=Us =249 5,000
OWdde M2 3,750
AL (e 29 1,800 1,800 0
307 glz2tol & 1,800 1,800 0
02 plZtAAE X 1,800 1,800 0
OALM=(tE) naz2y 150,000& * 12 1,800
SE=ESC MBS A X 27,060 25,620 1,440
< 8,118
e 18,942
307 glz2tol & 27,060 25,620 1,440
< 8,118
s 18,942
02 ItFAEX 27,060 25,620 1,440
OFE=L d2HsXNTX BiXl 27,060
< 8,118
s 18,942
DM E S X S X BHXI 139,680 132,480 7,200
J| 66,240
< 2,160
[ia 71,280
307 21201 A 139,680 132,480 7,200
J| 66,240
< 2,160
s 71,280
02 22t a2 X 139,680 132,480 7,200
Oger MY BiXl(6Y) 139,680
J| 66,240
< 2,160
e 71,280
HEAMEXNSXE I HEX 69,840 66,240 3,600
J| 33,120
< 1,080
s 35,640
307 glz2tol & 69,840 66,240 3,600
J| 33,120
< 1,080
s 35,640
02 QI2tF B X 69,840 66,240 3,600
ONEN MEHSXEZX HHXI(3Y) 69,840
J| 33,120
< 1,080
s 35,640
Heol s7nd 24 5,000 5,000 0
307 21201 A 5,000 5,000 0
02 2ltF & E X 5,000 5,000 0




AN 23220
o E X

MY ARAENS U MEAR S4
ool MEMSZZIY 29 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
Odglols7ua 89 5,000
AIX HIRA 17,787 17,993 A 206
J| 12,451
= 2,668
= 2,668
301 et A= 17,787 17,993 A 206
J| 12,451
=} 2,668
= 2,668
01 AMfSIEXEE 4562 17,787 17,993 A 206
OAZXHIRH =22 & 835 I 17,787
J| 12,451
= 2,668
= 2,668
AZ2=0te G Wa 5,000 8,000 A 3,000
307 2Iz2t0| & 5,000 8,000 A 3,000
02 QI2tH AP X 5,000 8,000 A 3,000
OLdZE0otelusy 29 5,000
HEUs s&8XS 256,490 257,300 A 810
SE=C0A=EUE 88 NS 163,000 163,000 0
307 2iz2to| & 163,000 163,000 0
04 QI2H8H AL R 163,000 163,000 0
OssZ2d=sUs 28 & 163,000
2= sz &8 A 93,490 94,300 A810
202 044l 5,190 6,000 A 810
01 2L Y| 5,190 6,000 A 810
OMEUzgR =& 5,190
203 ¥ 2 = &4 6,300 6,300 0
03 AIZH =& 2= X H| 6,300 6,300 0
OME A =& 6,300
307 2iz2to| A 82,000 82,000 0
04 QI2H8H AL R 82,000 82,000 0
Ofd= 2 &4 dslsz &2 NH 25,000
O==NEgHLUE &It A& 4,000
OdXOIctEN 3 &2IF N 15,000
Os=EMEM=UE &I X 26,000
Os=s&dMesisSMEd=UE =IO A& 7,000
OdMeEtdsUa &Z2IIXA 5,000
MAE Jltxd & 29 431,980 793,902 N 361,922
HSAE 22 414,280 277,902 136,378




2N
X ZH -
L= B
el

CEH SR (BH) - NBAY - B2 o A o SSa H RS2
ZSHHEH 22l 264,654 98,284 166,370
201 et A | 70,434 61,484 8,950
01 AFR2 2t 2l dl 7,150 6,700 450
OHAZE 2 JM8E 7Y
1,500,000& = 14 1,500
OetXteE ME 100,000& * 53] 500
OoN=zg3 500,000& * 14 500
O2X4H| M= 1,000,000& = 14! 1,000
O=283 34 500,000& =* 23] 1,000
OAN&EEZE A= 300,000& * 53] 1,500
OL2IHIoH HIIZA =&
150,000& * 13 150
O34y el 1,000
02 35249t 63,284 54,784 8,500
Oadtotd™ &3l 36,000& * 13 36
ogst&el At &3ld 48,000& * 13 48
OstFNELRS2(HER) 300,000& * 23] 600
OatelE AIE= 300,000& * 12& 3,600
ONIIMNEZ 3,000,000& * 12& 36,000
O ¢ & |Xdl 10,000,000& * 14 10,000
OHSA&B2S ZHRNH
2,000,000 * 14 2,000
Od= |4l 5,000,000& * 14 5,000
OAI& &H|l X4 6,000,000& * 14 6,000
206 M = Hl 10,850 12,400 A 1,550
01 X2 Hl 10,850 12,400 A 1,550
OHM = H 10,000& = 1009 = 33 3,000
Ot 3| 5,000& * 200%E 1,000
O&LCl =84l 2 (20kg) 15,000& * 350X 5,250
O&t Cl 8,000& * 200m 1,600
307 212t0| & 12,120 12,120 0
05 A2t E = 12,120 12,120 0
ORAHHIAAE KX 200,000& = 12& 2,400
O oI ord 22| 180,000& * 12& 2,160
O&™I|I&H| ort™2tel 350,000& * 12& 4,200
Oagtdy fsr2e 280,000& = 12& 3,360
401 Al Bl 20 HI 164,000 9,000 155,000
01 A& HI 164,000 9,000 155,000
OSSMEHEH XHEH B
6,000,000& * 14 6,000
OB M= 3,000,000& = 14l 3,000




2AMd: 2322
= MSAME JES L 2
S MFAIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OlILI=7E s=ti& £X
5,000,000& * 14! 5,000
O&EX 0 &yl 150,000
405 XtatE SHI 7,250 3,280 3,970
01 XML = ZFH St 7,250 3,280 3,970
O=g4dd 833271 #+&  550,000& = 3CH 1,650
O0IHE Zdiold ¢ 1,200,000 = 3CH 3,600
OR4d0t013 74 1,000,000& * 2JH4 2,000
WNEEHSEE B 59,639 40,439 19,200
201 Letd] 46,500 29,300 17,200
01 At 22l 5,000 4,300 700
oxNs8s #¢ 1,000,000& * 14l 1,000
O&FA & M3 2 1,500,000& * 14 1,500
OANEE A5 300,000& =« 53l 1,500
O=%3 4 500,000& * 23] 1,000
02 =24l 41,500 25,000 16,500
Q&= MEZ 125,000& * 128 1,500
O&IIANEZ 1,200,000& = 12& 14,400
OA&ZEHl ®Xdl 10,000,000& * 14l 10,000
OZHE KAl 10,000,000 * 14 10,000
OSg4dd ®Xdl 1,000,000& * 14l 1,000
odz® & datti&dl |l
1,000,000& * 14 1,000
OMSAE 2el&EH |FJHl
3,000,000 * 14 3,000
Ogdieaegaza 300,000& * 23| 600
206 T2 HI 6.000 6,000 0
01 24l 6,000 6,000 0
Os+¢ 2,000
M= H 10,000& * 1004 1,000
-&E, A2 10,000& * 100€ 1,000
O&CIE4A 8,000& = 125m 1,000
OXCI=¢& 8l 2 (20kg) 15,0003 » 200 3,000
307 glz2tol & 5,139 5,139 0
05 RIZt2IE = 5,139 5,139 0
ORAHIAAE KXY 176,000& 128 2,112
O&EII&Hl etd 2tel 137,200& » 128 1,647
OAg&dl SX2el 115,000& * 122 1,380
405 XtaHE SHI 2,000 0 2,000
01 XA = FFH SHI 2,000 0 2,000
ORd«iotol2 7¢ 1,000,000& * 2JH4 2,000




2N 222

g ﬂI%AI/; gtx=d & 24
S MFAIE 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HOIE=ZZE 2l 6,900 5,700 1,200
201 24l 6,900 5,700 1,200
02 =224l 6,900 5,700 1,200
O&HIIANER 300,000& = 12& 3,600
O&ot=& MEZ 150,000& * 12& 1,800
OAEZHl |XH 1,500
=& z2el 21,050 59,800 A 38,750
201 Lt 11,000 9,800 1,200
01 At 2t 2l 600 600 0
OF4A ¥ AMSE 7Y 6000008 * 14! 600
02 =24l 10,400 9,200 1,200
o™ Il & 8,400
=2 400,000& = 123 4,800
-&42E 300,000& = 12& 3,600
OA&EHl Sl 2,000
=22 1,000
—OF 2 &t 1,000
206 M= Hl 3,050 2,000 1,050
01 MHZ 4l 3,050 2,000 1,050
Os+¢ 2,000
-H=H 10,000& * 1004 1,000
-&E, A7 10,000& * 100€ 1,000
OZCldl 2 (20kg) 15,000& » 70 1,050
401 Al HIZ 201 Y| 7,000 48,000 A 41,000
01 A& HI 7,000 48,000 A 41,000
o=t oz 7,000,000& * 14! 7,000
HEHEZ=Z 22| 15,600 32,000 216,400
201 Let24E] 5,600 4,600 1,000
02 2324l 5,600 4,600 1,000
O&IIANEZ 50,000& = 123 600
o9 = dl 1,000
OdE KAl 1,000
OA&ZEHl |Xdl| 3,000
401 A& HIZ 201 I 10,000 27,400 A 17,400
01 A& HI 10,000 27,400 A 17,400
Oz X828+ & &M
5,000,000& * 14 5,000
Oti+=2 & 2= E= 5,000,000& * 14 5,000
HEAE |FX2el 30,206 29,399 807




2N 222

g HI%AI/; gtx=d & 24
S MFAIE 2el (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 124 dl 23,542 22,195 1,347
4 D12t Z2XREES 23,542 22,195 1,347
OMSAE 34 38,880 » 552 21,462
OMsAE M= & &X 52,000& = 40 2,080
202 Oddl 6,664 7,204 A 540
01 = LHAYI 6,664 7,204 A 540
OMsAE 2elge =2 6,664
Hs3d 2el 7,920 7,920 0
201 LBt 7,920 7,920 0
02 2324l 7,920 7,920 0
Odet =34 7,680
&g 375,000& = 12& 4,500
=4 265,000& ~ 123 3,180
o= 258 20,000& ~ 12& 240
=AY 2al 4,200 2,760 1,440
201 L2l 4,200 2,760 1,440
02 =224l 4,200 2,760 1,440
OFSPIN=1 300,000& = 12& 3,600
o=tz 50,000& = 123 600
ot 2el 4,111 1,600 2,511
101 @124l 3,111 0 3,111
04 JI12ZtHZ22HEE = 3,111 0 3,111
O&FA0=2Y 38,8803 = 80 3,111
201 LBH2dH| 1,000 1,600 A 600
01 At 22l 300 600 A 300
OFA ¥ /AME S 300
02 2324l 700 1,000 A 300
OA&&EHl Sl 700
HEANE 22 2 2 17,700 16,000 1,700
SCRE HE 10,000 10,000 0
401 AIEHI L 2] 10,000 10,000 0
01 A& Bl 10,000 10,000 0
O&LUTZE HHE 10,000
SUMSAE 2 7,700 6,000 1,700
201 £B-2dH| 4,000 0 4,000
02 =224l 4,000 0 4,000
OA&EHl Sl 1,000,000& = 404 A 4,000
206 M= Hl 1,200 1,000 200




2N

PRSI ﬂl%m; Jgtxd & 24
Sl HMSAE BY U 24 CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
01 X2 b 1,200 1,000 200
Os43 1,200
-Hl =M 10,000 * 309 = 40 1,200
401 AlEHI 2 2 OHYI 2,500 5,000 A2,500
01 A&l 2,500 5,000 A2,500
OsUMEANE B 500,000& * 5 2,500
x-S M=sMHE N 185,888 145,858 40,030
st HN=&H WA 185,888 145,858 40,030
2UR 844 142,888 140,858 2,030
308 XHXIGHSOIA 142,888 140,858 2,030
06 EI2UHUSEX= 142,888 140,858 2,030
OBURH=EHdE 4 & 110,038
OlAtD &2 X 24,600
OndtD =3 XA 8,250
MEAA I 43,000 5,000 38,000
308 ANXISHHMSOIA 43,000 5,000 38,000
06 EI20HUSEX= 43,000 5,000 38,000
OSHSE UsSHEIPE ZGAE & 25,000
OHExX USHEIRE XYHAIE &1 18,000
2= L 2SI 2H 657,060 686,600 A 29,540
J| 56,200
& 37,200
= 563,660
ad2=e L orLY 399,600 260, 100 139,500
J| 56,200
o=t 37,200
= 306,200
22 A B2 98,500 83,000 15,500
201 Bt 68,000 57,000 11,000
01 AP 22| H| 68,000 57,000 11,000
OO0ttt WAt 68,000
~2AAOHHUXE S 300& * 50,0005 15,000
-EBMR =8 2,200& * 10,0008 22,000
-E22 ME 2,500& = 7,6008 19,000
-t H2ZEE 23 9,000
-2 =s2EE H & 3,000
202 044 4,500 4,000 500
01 2L Y| 4,500 4,000 500
OnZLEEYL £ 4,500
203 R F & 9,000 9,000 0




2AMd: 2322
Hu: 2ED L NFBBN 29
el BBER U oL (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH S =AY 9,000 9,000 0
OBZELANH =7 9,000
307 21201 A 17,000 13,000 4,000
04 QIZHHALE & 17,000 13,000 4,000
OZFAMNE DAL X2 (6004 J18) 17,000
22 OHHHE X B &X| 18,000 0 18,000
J| 9,000
s 9,000
401 Al HIZ 201 I 18,000 0 18,000
J| 9,000
[ia 9,000
01 A& HI 18,000 0 18,000
Ouz2ZX St &
9,000,000& * 2J0H A 18,000
J| 9,000
s 9,000
2HZoHHE X B ZH| 40,000 40,000 0
401 Al HI K 201 I 40,000 40,000 0
01 A& HI 40,000 40,000 0
OZZoHHEXE 2B 2 &X 40,000
Ct=0 22X E M 20,000 0 20,000
J| 10,000
e 10,000
201 Lt 20,000 0 20,000
J| 10,000
s 10,000
01 At 22l 20,000 0 20,000
OSEHAZHUXNE E2H(F0T) 20,000
J| 10,000
[ia 10,000
E2BHEA 2 72,000 0 72,000
J| 18,000
< 18,000
[ia 36,000
201 Let24d] 4,500 0 4,500
J| 1,125
< 1,125
s 2,250
01 At 22l 4,292 0 4,292
Ot 2o & Al 4,292
“MNEES 340,000& * 500 A& 1,700
J| 425
= 425
s 850
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EX: S22
Hu: 2ED L NFBBN 29
ool A2 HVBX B EERED
5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OLLEXHeld &*E 2,000,000& = 14 2,000
307 QI2t0| & 46,636 51,516 A4 880
05 QIZtREZ 46,636 51,516 N4 ,880
OR0oIAHHIAIAE S22 253,000& » 12€ 3,036
O2=01& =22 22,000,000& * 14! 22,000
Ox=Xel&d 22 1,800,000& * 12& 21,600
=2 22X AEE et 40,000 200,330 A 160,330
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